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#include <bits/stdc++.h>
using namespace std;

const double eps = le-8;
const int maxn = l1le3 + 23;

struct Circle
double x, vy, r;
almaxn];

int n;
double f(double x

vector<pair<double, int>> v;
int 1 = 1; 1 <= n; i++

x >= alil.x + alil.r || x <= alil.x -
double d = ali].r * alil.r - (x - ali].x
d = sqrt(d);

v.push back({ali].y
v.push back({alil.y + d, -1});

sort(v.begin(), v.end ;
double ret = 0;

int 1 =0, cnt = 0; 1 < (int)v.size - 1;

cnt += v[i].second;

alil.r
* (x - ali

i++

cnt) ret += v[i + 1].first - v/[i].first;

ret;

double calc(double 1, double r
r -1 * (f(1) + f(r) + 4 * f((1 + r

/ 2 / 6;

.X);
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double Simpson(double 1, double r, double ans
double mid = (L + r) /2, ansl = calc(l, mid), ans2 = calc(mid, r);
fabs(ansl + ans2 - ans) <= eps ans;
Simpson(l, mid, ansl) + Simpson(mid, r, ans2);

int main
cin >> n;
vector<pair<double, int>> v;
int 1 = 1; 1 <= n; 1++
cin >> alil.x >> alil.y >> alil.r;
v.push back({alil.x - alil.r, C
v.push back({alil.x + alil.r, - ;

sort(v.begin(), v.end ;

double ret = 0;
int last = -1, cnt = 0;
int 1 = 0; i < (int)v.size(); i++
cnt += v[i].second;
cnt > 0 && last == - last = i;

cnt == && last !'= - ret += Simpson(v/last|.first,
viil.first, 1e20), last = -1;

printf("%s.4f\n", ret);

gg 2
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00 $Circle(x 0,y 0,n$ O $\theta 1$ 0 $\theta 26 00D DO O OO0O0ODOOOO0O $%
\begin{egnarray}S&=_&\iint {D}1 dx dy\\&=&\frac{1}{2}\oint {C}xdy-
ydx\&=&\frac{1}{2}\int_{\theta_1}"{\theta_2} (x_O+r\cdot cos\theta)d(y_O+r\cdot sin\theta)-
(y_O+r\cdot sin\theta)d(x_0+r\cdot cos\theta)\\&=&\frac{r}{2}\int_{\theta 1}~ {\theta 2}
[(x_O+r\cdot cos\theta)\cdot cos\theta +(y_0+r\cdot sin\theta)\cdot sin\theta

Jd\theta\\&==&\frac{r} {2}\int_{\theta 1}~ {\theta 2} (x O\cdot cos\theta + y O\cdot
sin\theta+r)d\theta\\&=&\frac{1}{2}\cdot(f(r,x_0,y 0,\theta 2)-f(r,x_0,y 0,\theta_1))\end{egnarray}
$$ O O O%$f(r,x,y,\theta)=r"2\cdot \theta+r\cdot x\cdot sin\theta-r\cdot y\cdot cos\theta$
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#include <bits/stdc++.h>
using namespace std;
typedef pair<double,int> pdd;
const double eps=1le-10;
const double pi=acos(-1.0);
const double pi2=2*pi;
const int maxn=1le3+23;
struct Point
double x,y;
Point (double x=0,double y=

bool operator < (const Point &b

x<b.x| | (x==b.x&&y<b.y);

typedef Point Vector;

Point operator + (Point A,Point B
Point operator - (Point A,Point B
Point operator * (Point A,double B
Point operator / (Point A,double B

int dcmp(double x

fabs (x)<eps ;
Xx<0 ? -

.
’

bool operator == (const Point &a,const Point &b

dcmp(a.x-b.x)==0&&dcmp(a.y-b.y)==0;

double dot(Vector a,Vector b
a.x*b.x+a.y*b.y;
double length(Vector a
sqrt(dot(a,a));
double angle(Vector v
atan2(v.y,v.x);
double cross(Vector a,Vector b
a.x*b.y-a.y*b.x;
struct Circle

Point c;double r;
Point point(double a

Point (A.x+B.x,A.y+B.y);
Point (A.x-B.x,A.y-B.y);
Point(A.x*B,A.y*B);
Point(A.x/B,A.y/B);
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Point(c.x+cos(a)*r,c.y+sin(a)*r);
void read
scanf("sLfslf",&c.x,&C.y);
double oint(double t1,double t2
r*(r*(t2-tl)+c.x*(sin(t2)-sin(tl))-c.y*(cos(t2)-cos(tl ;
bool operator < (const Circle rhs) const
c<rhs.c||(c==rhs.c&&r<rhs.r);
bool operator == (const Circle rhs) const
c==rhs.c&&(dcmp(r-rhs.r)==0);
almaxn!;
pdd plmaxn<<2];int cnt,pb;
void getCirclelIntersection(const Circle &C1l,const Circle &C2

double d=length(Cl.c-C2.c);
Cl.r+C2.r-d)<=0||C1.r-C2.r-d>=

’

C2.r-Cl.r)-d)>= pb++;
double a=angle(C2.c-Cl.c);
double da=acos((Cl.r*Cl.r+d*d-C2.r*C2.r)/(2*Cl.r*d));
double 1l=a-da, r=a+da;

l<-pi) l+=pi2;
r>=pi) r-=pi2;

’

1>r) pb++;
plent++]={1,1};
plcnt++]={r,-1};

int n;
double cal(int x

double ans=0;cnt=0;

pb=0;
int i=1;i<=n;i++
i::X F
getCirclelntersection(alx!,alil);
plcnt++]={-pi,0};plcnt++]={pi,0};

sort(p,p+cnt);
int i=1;i<cnt;i++
pb==0) ans+=a[x].oint(p[i-1].first,p[i].first);
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pb+=p[i].second;

ans;

int main
cin>>n;
int i=1;i<=n;i++
scanf("slfslfslf",&ali].c.x,&li]l.c.y,&ali].r);

double ans=0;
int i=1;i<=n:i++) ans+=cal(i);
printf("%.4f",ans/2);
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